

UC Berkeley

UC Berkeley Previously Published Works

Title

Processing Speed Predicts Behavioral Treatment Outcomes in Children with Attention-Deficit/Hyperactivity Disorder Predominantly Inattentive Type

Permalink

<https://escholarship.org/uc/item/4rr5q3pm>

Journal

Research on Child and Adolescent Psychopathology, 46(4)

ISSN

2730-7166

Authors

Adalio, Christopher J
Owens, Elizabeth B
McBurnett, Keith
[et al.](#)

Publication Date

2018-05-01

DOI

10.1007/s10802-017-0336-z

Peer reviewed



Published in final edited form as:

J Abnorm Child Psychol. 2018 May ; 46(4): 701–711. doi:10.1007/s10802-017-0336-z.

Processing Speed Predicts Behavioral Treatment Outcomes in Children with Attention-Deficit/Hyperactivity Disorder Predominantly Inattentive Type

Christopher J. Adalio¹, Elizabeth B. Owens¹, Keith McBurnett², Stephen P. Hinshaw^{1,2}, and Linda J. Pfiffner²

¹Tolman Hall #1650, University of California, Berkeley, Berkeley, CA 94720-1650

²401 Parnassus Ave., University of California, San Francisco, San Francisco, California 94143

Abstract

Neuropsychological functioning underlies behavioral symptoms of attention-deficit/hyperactivity disorder (ADHD). Children with all forms of ADHD are vulnerable to working memory deficits and children presenting with the inattentive form of ADHD (ADHD-I) appear particularly vulnerable to processing speed deficits. As ADHD-I is the most common form of ADHD presented by children in community settings, it is important to consider how treatment interventions for children with ADHD-I may be affected by deficits in processing speed and working memory. We utilize data collected from 199 children with ADHD-I, aged 7 to 11 years, who participated in a randomized clinical trial of a psychosocial-behavioral intervention. Our aims are first to determine whether processing speed or working memory predict treatment outcomes in ADHD-I symptom severity, and second whether they moderate treatment effects on ADHD-I symptom severity. Results of linear regression analyses reveal that baseline processing speed significantly predicts posttreatment ADHD-I symptom severity when controlling for baseline ADHD-I symptom severity, such that better processing speed is associated with greater symptom improvement. However, predictive effects of working memory and moderation effects of both working memory and processing speed are not supported in the present study. We discuss study limitations and implications of the relation between processing speed and treatment benefits from psychosocial treatments for children with ADHD-I.

Keywords

ADHD; Inattentiveness; Processing Speed; Clinical Trial; Psychosocial Intervention

Correspondence concerning this article should be addressed to Linda J. Pfiffner, Department of Psychiatry, 401 Parnassus Ave., Box 0984, University of California, San Francisco, San Francisco, CA 94143, lindap@lppi.ucsf.edu.

Compliance with Ethical Standards

Conflict of interest: The authors declare that they have no conflict of interest.

Ethical approval: All procedures performed in studies involving human participants were in accordance with the ethical standards of the institutional and/or national research committee and with the 1964 Helsinki declaration and its later amendments or comparable ethical standards. This article does not contain any studies with animals performed by any of the authors.

Informed consent: Informed consent was obtained from all individual participants included in the study.

Children with ADHD-I are particularly vulnerable to processing speed deficits compared to (a) typically developing children (e.g., Arnett, Pennington, Willcutt, DeFries, & Olson, 2015; Rossi et al., 2015), (b) children with the hyperactive-impulsive presentation of ADHD (e.g., Hellwig-Brida, Daseking, Petermann, & Goldbeck, 2010), and (c) children with the combined presentation of ADHD (e.g., Mayes, Calhoun, Chase, Mink, & Stagg, 2009). Indeed, in adults with ADHD, symptoms of hyperactivity-impulsivity have been associated with faster processing speed (Nigg et al., 2005) and symptoms of inattentiveness have been associated with slower processing speed (Hunt, Bienstock, & Qiang, 2012; Nigg et al., 2005). Furthermore, children's processing speed performance has predicted ADHD-I diagnostic status with 69% accuracy (Mayes et al., 2009). There is strong evidence for a largely biological etiology of processing speed impairments in individuals with ADHD-I. White matter abnormalities have been associated with both impaired processing speed (Konrad & Eickhoff, 2010) and ADHD symptoms (van Ewijk, Heslenfeld, Zwiers, Buitelaar, & Oosterlaan, 2012). Furthermore, children with ADHD-I have shown white matter abnormalities in the temporo-occipital circuits (Lei et al., 2014). There may also be a genetic basis for processing speed deficits in individuals with ADHD (Bidwell, Willcutt, DeFries, & Pennington, 2007; Waldman, 2005).

Of the three presentations of ADHD in the DSM-5 (inattentive, hyperactive-impulsive, combined), the inattentive form (ADHD-I) is the most common found in children within community settings (Willcutt, 2012). Symptoms of ADHD-I include failing to give close attention to details, difficulty sustaining attention, appearing not to listen, not following through on instructions, difficulty organizing tasks, avoidance of tasks that require sustained effort, losing things, being easily distracted, and forgetfulness (DSM-5; American Psychiatric Association, 2013). Thus, a diagnosis of ADHD-I, according to the DSM, is based on behavioral symptoms rather than underlying cognitive mechanisms. However, theoretical models of ADHD often implicate underlying neuropsychological processes such as processing speed and working memory as highly relevant to symptom presentation (e.g., Barkley, 1997; Sonuga-Barke, Bitsakou, & Thompson, 2010).

Processing speed is the cognitive capacity to process information and generate an appropriate response within constrained time limits (Weiler, Bernstein, Bellinger, & Waber, 2000). It is often estimated using the Processing Speed Index from the Wechsler intelligence tests (WISC-IV and WISC-V), which comprises two subtests: Coding and Symbol Search. The Coding subtest requires children to match symbols paired with numbers, and the Symbol Search subtest requires children to scan a row of symbols and indicate whether a target symbol appears in the row (Wechsler, 2003a). Both subtest scores reflect accuracy and speed of performance in tests of visual information processing (Weiler et al., 2000).

Processing speed is distinguished from sluggish cognitive tempo (SCT), with the latter constituting a cluster of symptoms including inconsistent alertness and orientation, evidenced by sluggishness, drowsiness, and daydreaming (McBurnett, Pfiffner, & Frick, 2001; Todd, Rasmussen, Wood, Levy, & Hay, 2004). Processing speed is a specific cognitive ability related to information input and output, whereas SCT is a cluster of behavioral symptoms related to alertness and orientation. Comparing these two constructs is challenging due to both the unknown neuropsychological mechanisms underlying symptoms

of SCT (Barkley, 2014) as well as the unidentified behavioral symptoms resultant of slow processing speed. Both processing speed and SCT are associated with inattention (Barkley, 2014); however, interestingly, processing speed and SCT are not consistently associated with each other (Bauermeister, Barkley, Bauermeister, Martinez, & McBurnett, 2012). Additionally, SCT and ADHD-I have been described as correlated, yet distinct, symptom dimensions (Lee, Burns, Snell, & McBurnett, 2014; Willcutt et al., 2014) with distinct neuropsychological profiles (Araujo Jiménez, Jané Ballabriga, Martin, Arrufat, & Giacobbo, 2015; see Barkley, 2014 for a review of SCT and ADHD).

Working memory is an essential executive function, affecting children with ADHD regardless of presentation (Mayes et al., 2009). It constitutes the cognitive capacity to maintain and manipulate information over short periods of time (Takeuchi, Taki, & Kawashima, 2010). Working memory is critical to mathematical skills and reading comprehension and is thus a strong predictor of academic achievement (Buschkuhl, Jaeggi, & Jonides, 2012). Again, whereas processing speed is a cognitive skill that distinguishes between the inattentive versus hyperactive-impulsive or combined presentations of ADHD, children with ADHD-C and ADHD-I typically have similar deficits in working memory performance (Mayes et al., 2009).

Most treatments for ADHD target symptoms and impairment rather than underlying neuropsychological functions. Furthermore, behavioral treatments for ADHD have generally focused on the combined presentation and have targeted the disruptiveness characteristic of this form of ADHD (Fabiano et al., 2009; Pelham & Fabiano, 2008). Interventions targeting disruptiveness and impulsivity may not be as relevant to reducing symptoms of ADHD-I (Pfiffner et al., 2014). Absent from research on behavioral interventions is consideration of how underlying cognitive deficits of ADHD might impact treatment response. Specific to ADHD-I, it is not known whether and how processing speed and working memory weaknesses might impact treatment response. Based on studies linking symptoms and impairments with these cognitive factors (Hunt et al., 2012; Martinussen & Tannock, 2006; Nigg et al., 2005), both processing speed and working memory deficits could be expected to reduce response to behavioral strategies implemented by parents and teachers intended to elicit compliance and completion of routines and academic work.

We conducted the present study with a large sample of children, aged 7 to 11 years, with carefully diagnosed ADHD-I, who participated in a randomized clinical trial of a psychosocial-behavioral intervention. The intervention (Child Life and Attention Skills; CLAS) was developed to specifically address the symptoms and impairment of ADHD-I (Pfiffner et al., 2014). Participants were assigned to either a multimodal treatment (CLAS) which includes parent, child, and teacher components, a parent-focused treatment, or treatment as usual. First, in the primary analyses, data from the active treatment groups (i.e., the multimodal and parent-focused treatments) are combined and contrasted with the treatment as usual group data. Because each active treatment condition received the same parent component, this contrast affords comparison of any study-related treatment components to nonsystematic treatment. Second, we contrast the two active treatment groups directly, without the inclusion of data from the treatment as usual group, pitting multimodal treatment against parent-focused treatment alone.

Our first aim is to determine whether processing speed or working memory independently predict treatment outcomes regardless of intervention type. We hypothesize that children's baseline processing speed and working memory will each significantly predict parent and teacher report of children's posttreatment ADHD-I symptom severity, above and beyond baseline ADHD-I symptom severity, such that better processing speed and working memory will predict greater symptom-based improvement following treatment. In other words, the prediction is that processing speed and working memory will be significantly associated with the inattention-related outcome regardless of intervention type. We also expect that significance will remain for the second contrast of the multimodal versus parent-focused treatment, such that these cognitive factors will predict better inattention-related outcome for the multimodal treatment.

Our second aim is to determine whether processing speed or working memory independently moderate the effects of treatment group on the primary outcome (i.e., whether they differentially predict outcomes across active treatment versus treatment as usual or multimodal treatment versus parent-focused treatment only). Due to the exploratory nature of the moderation analyses, we do not predict directionality of these effects; however, such an investigation could provide insight into potential treatment components most susceptible to influence from neuropsychological functions (e.g., the addition of teacher and child components in the multimodal treatment, which are not in the parent-focused treatment, may protect against effects of neuropsychological functioning on treatment).

Method

Participants

In the present study, we utilize data collected from 199 children participating in a randomized clinical trial held across two sites (Pfiffner et al., 2014). Six participants were excluded from the present analyses due to missing data. Most participants were recruited from schools through mailings to principals, learning specialists, and school mental health providers (65%). Participants were also recruited through mailings to offices of pediatricians, child psychiatrists, and psychologists (18%), postings in online parent networks or professional organizations (11%), or word-of-mouth (6%).

Inclusion criteria included the following (for additional details, see Pfiffner et al., 2014). First, each child must have had a primary DSM-IV diagnosis of ADHD-I confirmed with the Kiddie Schedule for Affective Disorders and Schizophrenia for School-Age Children (K-SADS-PL; Kaufman, Birmaher, Brent, & Rao, 1997). Second, children must have had an IQ greater than 80 confirmed with the Wechsler Intelligence Scale for Children – Fourth Edition (WISC-IV; Wechsler, 2003a). Third, children must have been between 7 and 11 years of age (2nd to 5th grade in school). Fourth, children must have been living with at least one parent for the year prior to the study. Fifth, children must have been attending school full-time in a regular classroom, the school must have been within 45 minutes of the study site, and teachers must have consented to participate in a school-based treatment. Finally, families must have been able to participate in groups on days scheduled. Exclusion criteria comprised receipt of nonstimulant psychoactive medication, intention to initiate or change medication during the study, significant developmental disorders (e.g., autism spectrum disorders or

intellectual disability), and neurological illnesses. Informed written consent was provided by parents, and written assent was provided by children. Study procedures were approved by the Committee on Human Research at the University of California, San Francisco, which also covered participants at the University of California, Berkeley site.

Child demographic characteristics at randomization were as follows: the mean age was 8.6 years (range = 7 to 11 years); 26% were in the 2nd grade, 31% were in the 3rd grade, 27% were in the 4th grade, and 17% were in the 5th grade; 58% of the children were male; 54% were Caucasian, 17% were Latino, 8% were Asian American, 5% were African American, and 17% self-identified as mixed race. At randomization, 4.5% of children were taking stimulant medication to address symptoms related to ADHD.

Parent demographic characteristics at randomization were as follows: total household income was below \$50,000 for 14%, \$50,000 to \$100,000 for 27%, \$100,000 to \$150,000 for 28%, and above \$150,000 for 31% of families; 81% of primary parents reported graduating from college; 13% of participants were living in single-parent homes.

Measures

Kiddie Schedule for Affective Disorders and Schizophrenia for School-Age Children (K-SADS-PL; Kaufman et al., 1997)—The K-SADS-PL was a primary measure used at baseline to confirm psychiatric diagnostic status in children participating in the study. A licensed clinical psychologist used the K-SADS-PL to ask parents about their children's clinical and developmental histories and administered modules for ADHD, oppositional defiant disorder, conduct disorder, anxiety disorders, major mood disorders, and psychoses. Study inclusion criteria included six or more inattentive symptoms ($M = 7.7$, $SD = 1.1$) and fewer than 6 hyperactive-impulsive symptoms ($M = 1.2$, $SD = 1.2$). The K-SADS-PL has demonstrated good psychometric properties, including adequate test-retest reliability (Kaufman et al., 1997).

Child Symptom Inventory (CSI; Gadow & Sprafkin, 1994)—The CSI is a measure of child symptom severity and was completed by parents and teachers at baseline and posttreatment. Mean symptom severity scores for parent and teacher report on the CSI were used as primary outcome measures and analyzed separately in the present study. Items corresponding to DSM-IV inattentive symptoms were rated on a 4-point scale (ranging from 0 to 3). The Inattention Scale has demonstrated acceptable test-retest reliability and predictive validity for a categorical diagnosis of ADHD (Gadow & Sprafkin, 1994).

Wechsler Intelligence Scale for Children – Fourth Edition (WISC-IV; Wechsler, 2003a)—The WISC-IV is a test of intellectual ability yielding a Full Scale IQ (FSIQ) from four index scores: Verbal Comprehension Index (VCI), Perceptual Reasoning Index (PRI), Working Memory Index (WMI), and Processing Speed Index (PSI). FSIQ was used for study inclusion. The PSI and WMI were used as predictor variables in the present study. PSI includes the core subtests of Coding and Symbol Search; WMI includes the core subtests of Letter-Number Sequencing and Digit Span. In supplemental analyses, selected WISC-IV subtest combinations were included as covariates. The PSI and WMI have demonstrated

good reliability (internal consistency estimate of .88 for the PSI and .92 for the WMI) and validity (Wechsler, 2003b).

Procedure

Participants were randomized across treatment conditions in parallel fashion at one of two treatment sites: the University of California, Berkeley or the University of California, San Francisco. There were no significant site-by-treatment effects on primary outcome measures (Pfiffner et al., 2014). Treatment conditions included Child Life and Attention Skills Treatment (CLAS), Parent-Focused Treatment (PFT), and Treatment as Usual (TAU). Six cohorts of children participated in treatment across four years. A total of 74 children participated in the CLAS group, 74 children participated in the PFT group, and 51 children participated in the TAU group. Cohorts ranged from 24 to 43 children, with a mean of 33 children per cohort. Treatment lasted 10 to 13 weeks. Prior to treatment, parents completed the K-SADS-PL and the CSI, teachers completed the CSI, and children completed the WISC-IV. After treatment, parents and teachers completed the CSI.

The CLAS treatment included three manualized components: parent, child, and teacher. The *parent component* was adapted from existing parent training programs (Barkley, 1987; Forehand & McMahon, 1981; Wells et al., 1996) and comprised ten 90-minute parent group meetings and up to six 30-minute family meetings with the parent, child, and therapist. The curriculum focused on strategies for managing ADHD-I symptoms, associated impairments, and executive functioning deficits, strategies to reinforce children's use of skills learned in child group meetings, and strategies for effectively interacting with teachers and reinforcing the classroom intervention. During family meetings, therapists worked with parents and children to individualize treatment content.

The *child component* was adapted from a social skills curriculum for children with ADHD (Pfiffner & McBurnett, 1997) and comprised ten 90-minute child group meetings which occurred at the same time as the parent group meetings. Children learned skills for independence (e.g., academic, study, and organizational skills; self-care and daily living skills), social skills (e.g., good sportsmanship, assertion, conversational skills, dealing with teasing, friendship-making, playdate skills) and cognitive-behavioral techniques to promote attention, time management, and task completion. The curriculum was delivered through didactic instruction, modeling, behavioral rehearsal, corrective feedback, and practice in the context of a reward-based contingency management program.

The *teacher component* included evidence-based classroom management strategies (Fabiano et al., 2010; Pfiffner, 2011; Pfiffner, Barkley, & DuPaul, 2006) and comprised one 30-minute orientation meeting between the teacher and therapist and up to five 30-minute meetings with the teacher, parent, child, and therapist. Teachers were provided with information on ADHD-I and taught strategies to provide in-class support of attention and reinforce the use of skills their student learned in the child group. Specific academic, organizational, and social target behavior goals were selected by the teacher, shaped by the clinician, and discussed with the parent and child.

PFT included the parent component described above, with parent management sessions identical to those in the CLAS parent group; however, PFT did not include the child or teacher components. Families in PFT were not informed of the child component skills taught in the CLAS group and did not receive training in working with teachers. PFT families received the same number of parent group and individual meetings as CLAS families.

TAU did not include treatment components from either study-related treatment (i.e., CLAS or PFT). Families in the TAU group received a written diagnostic report based on the assessment conducted at baseline and a list of community treatment providers. Families did not receive specific treatment recommendations from study staff. During the period between baseline and posttreatment, 53% of children in the TAU group received classroom accommodations, 51% received educational intervention, 33% received psychotherapy, and 14% received medication. At the completion of the study, families in the TAU group had the opportunity to participate in a two-session parenting workshop including strategies taught in the CLAS groups. Note that a completely treatment-free control group in a three-month clinical trial is neither feasible nor ethical; a TAU condition allows families to select community interventions but prohibits them from experiencing the same, evidence-based and intensive interventions experienced by the active treatment conditions. As such, it is a relatively conservative control condition.

Clinicians—Four therapists led parent groups. Three of the therapists were licensed clinical psychologists, and one was a clinical psychology postdoctoral fellow. In the CLAS group, for any given participant, the same therapist provided the parent group sessions, individual sessions, and teacher consultations. In the PFT group, for any given participant, the same therapist provided the parent group sessions and individual sessions. Ten bachelor's or master's level clinicians led the child groups. Two clinicians co-led each child group. Licensed clinical psychologists provided supervision during weekly cross-site conference calls and individually as needed. For the CLAS group, joint supervision was conducted with parent and child group leaders.

Attendance—There was not a significant difference in the number of individual parent meetings attended by participants in the CLAS ($M = 4.2$) and PFT ($M = 3.9$) groups. Participants in the PFT group attended slightly fewer group meetings ($M = 8.8$) than participants in the CLAS group ($M = 9.3$), $p = .02$ ($d = .38$). Teachers of children in the CLAS group attended an average of four meetings.

Data Analytic Plan

In the larger report of the clinical trial from which these data were garnered (Piffner et al., 2014), children in the CLAS group showed significantly fewer symptoms of ADHD-I than children in the TAU group at posttreatment, according to parent and teacher report on the CSI. Additionally, children in the CLAS group showed significantly fewer symptoms of ADHD-I than children in the PFT group, according to teacher report on the CSI at posttreatment; however, there was not a significant difference in posttreatment ADHD-I symptom count between children in the CLAS and PFT groups according to parent report.

For the following analyses, we coded treatment group in two ways for two different sets of analyses. First, to compare participants in active treatment to participants in treatment as usual, data from participants in the CLAS and PFT groups were combined to form an active treatment group, contrasted with data from participants from the TAU group. Second, to compare participants in a multimodal treatment versus participants in a parent-focused treatment, the data from participants in the CLAS and PFT groups were analyzed in contrast to each other, with data from TAU participants excluded. The only significant difference in treatment group characteristics at randomization was in report of medication use. Significantly more children in the CLAS group reported ADHD medication use (9.5%) than children in the PFT group (1.4%), but not compared to children in the TAU group (2.0%) (Pfiffner et al., 2014).

All statistical analyses were conducted using SPSS for Windows, Version 23. Analyses performed were as follows. First, we determined descriptive statistics for the predictor and outcome variables. Next, we conducted a series of linear regression analyses to address the hypotheses from the two aims. For each aim, two series of linear regression analyses were performed based on rater: one including parent report of CSI ADHD-I symptom severity and another based on teacher report of the same measure. Baseline parent and teacher ratings of CSI-ADHD-I symptom severity were not significantly correlated, $r(197) = .11$, $p = .139$. Posttreatment parent and teacher ratings of CSI-ADHD-I symptom severity were significantly yet weakly correlated $r(190) = .24$, $p < .001$.

The hypotheses from the first aim (i.e., to determine whether processing speed or working memory independently predict treatment outcomes regardless of intervention type) were tested by performing eight linear regression analyses: two methods for coding treatment by two reporters (parent or teacher) by two cognitive processes (PSI or WMI). Step 1 included the group variable (active treatment versus TAU or CLAS versus PFT) as well as baseline report of CSI ADHD-I symptom severity (either parent or teacher report). Step 2 included children's baseline neuropsychological performance (either WISC-IV PSI or WMI scores). The hypotheses from the second aim (i.e., to determine whether processing speed or working memory independently moderate the effects of treatment group on treatment outcomes) were tested by adding an interaction term between the group variable and children's baseline neuropsychological performance at Step 3.

Our primary data analytic plan did not include WISC-IV FSIQ as a covariate due to concerns of over-control, particularly due to overlap between processing speed and working memory measures with the IQ measure (i.e., WISC-IV PSI and WMI each contribute to the FSIQ). Indeed, it has been argued that statistical adjustment for IQ in analyses of neuropsychological functioning may produce anomalous findings (Dennis et al., 2009). However, to aid in specificity of findings, we repeated primary analyses with covariation of (a) WISC-IV VCI or (b) all WISC-IV indexes other than the predictor index (i.e., VCI, PRI, and WMI were covaried for PSI analyses and VCI, PRI, and PSI were covaried for WMI analyses).

Results

Descriptive Statistics

Table 1 presents sample characteristics by treatment assignment for CLAS, PFT, active treatment (i.e., CLAS and PFT combined) and TAU. Independent samples *t* tests revealed no significant group differences (i.e., between CLAS and PFT or active treatment and TAU) in pretreatment age, CSI ADHD-I symptom severity, FSIQ, PSI, WMI, or posttreatment CSI ADHD-I symptom severity (with the exception of a comparison of posttreatment parent reported ADHD-I symptom severity between CLAS and PFT groups). Additionally, Chi-Square testing revealed no significant group differences in gender or baseline K-SADS diagnostic criteria status for oppositional defiant disorder (ODD), generalized anxiety disorder (GAD), or depression.

Processing Speed

Linear regression analyses were conducted to determine whether parent or teacher report of children's ADHD-I symptom severity on the CSI at posttreatment could be predicted from children's WISC-IV Processing Speed Index scores at baseline, covarying children's baseline CSI ADHD-I symptom severity as well as treatment group (i.e., active treatment versus TAU). Results indicated that a significant proportion of the total variation in parent report of ADHD-I symptom severity change from pretreatment to posttreatment was predicted by children's baseline processing speed and a small effect size on the overall model (Table 2). According to a standardized Beta coefficient (β), for every one standard deviation increase in baseline processing speed score, posttreatment parent report of ADHD-I symptom severity decreased (i.e., improved) by .13 standard deviations. Results also suggest that a significant proportion of the total variation in teacher report of ADHD-I symptom severity change from pretreatment to posttreatment was predicted by children's baseline processing speed and a small effect size on the overall model (Table 2). According to a standardized Beta coefficient (β), for every one standard deviation increase in baseline processing speed score, posttreatment teacher report of ADHD-I symptom severity decreased (i.e., improved) by .30 standard deviations. In other words, baseline processing speed was a significant predictor of treatment outcomes according to parent and teacher report of ADHD-I symptom severity for children diagnosed with ADHD-I. Additionally, with the inclusion of VCI as a covariate, results reveal that baseline processing speed remained a significant predictor of treatment outcomes according to both parent and teacher report.

For the CLAS versus PFT contrast, baseline processing speed remained a significant predictor of treatment outcomes according to both parent and teacher report (Table 3), over and above variance accounted for by treatment assignment and baseline ADHD-I symptom severity. Additionally, when VCI was included as a covariate in the CLAS versus PFT contrast, baseline processing speed remained a significant predictor of treatment outcomes according to both parent and teacher report.

Regarding the moderator analyses, results indicated that children's baseline processing speed was not a significant moderator of treatment effects on parent report, $\beta = -.38$, $t(192)$

= -0.88 , $p = .383$, or teacher report, $\beta = .38$, $t(192) = 0.92$, $p = .359$, of ADHD-I symptom severity. In other words, there was not sufficient evidence to suggest that the direction or strength of the relation between treatment group and the primary outcome differed based on children's processing speed. Inclusion of VCI as a covariate did not change the pattern of significance for processing speed moderation analyses. For the CLAS versus PFT contrast, results of moderation analyses for parent and teacher report remained nonsignificant.

Working Memory

For the active treatment versus TAU contrast, children's baseline working memory did not predict a significant proportion of the total variation in parent report or teacher report of ADHD-I symptom severity change from pretreatment to posttreatment (Table 2). Inclusion of VCI as a covariate did not change the nonsignificant findings.

For the CLAS versus PFT contrast, baseline working memory remained a nonsignificant predictor of treatment outcomes according to both parent and teacher report (Table 3). Inclusion of VCI as a covariate in the CLAS versus PFT contrast did not change the nonsignificant findings.

Regarding moderator analyses, results indicated that baseline working memory was not a significant moderator of treatment effects on parent report, $\beta = .07$, $t(192) = -0.14$, $p = .892$, or teacher report, $\beta = -.67$, $t(192) = -1.20$, $p = .232$, of ADHD-I symptom severity. Inclusion of VCI as a covariate did not change the pattern of significance for working memory moderation analyses. For the CLAS versus PFT contrast, results of moderation analyses for parent and teacher report remained nonsignificant.

Discussion

Our purpose was to determine whether processing speed and working memory, two neuropsychological functions commonly deficient or relatively weak in children with ADHD-I, would be associated with children's outcomes of a psychosocial-behavioral intervention. The present study is the first to date, to our knowledge, to examine treatment enhancement or interference effects of processing speed in children with ADHD-I. Key findings were that children's baseline processing speed scores predicted both parent and teacher report of posttreatment ADHD-I symptom severity, over and above baseline ADHD-I symptom severity, regardless of treatment group (i.e., contrasting active treatment versus TAU as well as CLAS versus PFT). That is, better baseline processing speed was related to greater treatment-related improvement. However, children's baseline working memory scores did not predict parent or teacher report of posttreatment ADHD-I symptom severity. Additionally, neither baseline processing speed nor working memory scores moderated effects of treatment on parent or teacher report of posttreatment ADHD-I symptom severity. Thus, direct skills training and the teacher component did not appear to mitigate the predictive effects of slow processing speed on ADHD symptom severity after treatment. In short, results reveal that the slower children's processing speeds are when they begin treatment, the less treatment-related improvement with respect to primary symptoms of ADHD-I. Thus, although slower processing speed was still associated with overall decreases in ADHD-I symptom severity from baseline to posttreatment, children with slower

processing speeds may be at risk for reduced treatment-related success compared to children with higher processing speeds.

The current results do not identify why processing slow processing speed predicted less benefit from treatment. It is possible that factors related to the particular intervention (e.g., curriculum, techniques taught) were insufficient for fully addressing these weaknesses or that parents' implementation of the skills learned in treatment (e.g., patience with children, delivery of commands) was adversely affected by children's lower processing speed, resulting in relatively weaker treatment outcomes in terms of symptom severity. In either case, these findings suggest the need for greater attention to processing speed deficits in treatments for ADHD-I. It may be important for clinicians working with families of children with ADHD-I to be aware that processing speed deficits predict poorer outcomes. For example, children with ADHD-I and lower processing speeds may take longer to process and comply with a parent's command. This longer behavioral response time could be related, in part, to processing speed, but parents may interpret children's delayed response as a display of willful noncompliance. Parents of children with ADHD-I may benefit from enhanced training in parenting children with slow processing speed (e.g., targeted techniques for increasing parental patience when waiting for children's compliance, providing rewards for partial completion of requests; and timed practice to encourage quicker responses). Teachers, as well, may benefit from psychoeducation regarding processing speed deficits and learning specific techniques for working with children with ADHD-I and slower processing speeds such as relaxed time constraints, delivery of information at a reduced pace, simplifying multistep tasks, moderating processing demands, and supporting the development of metacognitive strategies (Weiler, Bernstein, Bellinger, & Waber, 2002). Future studies should focus on pinpointing whether including psychoeducation and a skill-building curriculum specific to processing speed deficits yields improved treatment outcomes for children with ADHD-I. Such adjunctive treatment may help children with slower processing speeds reach post-treatment symptom severities similar to children with faster processing speeds.

Non-behavioral interventions targeting processing speed itself also might be useful as adjuncts to behavioral interventions. Some evidence exists for improvement in cognitive abilities through cognitive training interventions including computer-based tasks, video games, and even board games (Burge et al., 2013; Mackey, Hill, Stone, & Bunge, 2011). One study conducted with schoolchildren found that cognitive speed training led to approximately a 30% improvement on the WISC-IV Coding subtest (Mackey et al., 2011). However, there is a lack of evidence supporting the generalization of improvements in trained cognitive tasks to untrained processing speed tasks (Takeuchi & Kawashima, 2012) and everyday tasks (Jak, Seelye, & Jurick, 2013) and other studies, including a meta-analysis of cognitive training studies, question whether cognitive training is an effective approach to reducing ADHD-related impairments (Cortese et al., 2015; Stevens, Gaynor, Bessette, & Pearlson, 2016). Although cognitive training is not an effective frontline treatment for symptoms of ADHD, its role as an adjunctive treatment for improving processing speed is not known.

Other treatments, such as neurofeedback and psychopharmacological intervention, have also been evaluated for effects on processing speed performance. Effects of neurofeedback on neuropsychological functioning are reportedly mixed (Bink, van Nieuwenhuizen, Popma, Bongers, & van Boxtel, 2014). For example, in a sample of adolescents and young adults with ADHD, participants receiving neurofeedback had improved processing speed at posttreatment, but improvements were not beyond that of the control group not receiving neurofeedback (Bink et al., 2014). It is also worth noting there are mixed results regarding stimulant and nonstimulant medication improving performance on processing speed tasks (Biederman et al., 2008; Finke et al., 2010; Graziano, Geffken, & Lall, 2011; Lajoie et al., 2005; Nielsen & Wiig, 2011). In a sample of children with ADHD, medication status (i.e., medication naïve, pure stimulant, stimulant plus another medication, or nonstimulant) did not have a significant effect on processing speed (Graziano et al., 2011). Additionally, Nielsen and Wiig (2011) found that adults with ADHD taking methylphenidate improved processing speed performance after stabilization of ADHD symptoms; however, it remains unknown whether methylphenidate had a direct impact on processing speed or whether the stabilization of ADHD symptoms influenced improvement in processing speed.

In contrast to processing speed, working memory was not a significant predictor of inattention-related treatment outcomes in the present study. Although working memory has been associated with symptoms of inattention (Martinussen & Tannock, 2006), the WMI was somewhat higher than the PSI in the current sample (see Table 1) indicating somewhat less impaired working memory. Consistent with other studies, slow processing speed may be the more pervasive cognitive deficit of ADHD-I (Thaler, Bello, & Etcoff, 2013). In addition, the intervention in the present study included components for addressing executive function deficits which may have mitigated working memory problems and therefore the potential adverse effect of these problems on inattention symptom reduction.

Limitations

Although this is a preliminary study investigating treatment interference effects of cognitive skills in children with ADHD-I, there are limitations that must be considered. First, the relatively high socioeconomic status of this sample may limit the generalizability of these findings. Second, because the outcome measures of the current study were parent and teacher report of children's ADHD-I symptom severity, it is possible that rater or expectancy bias influenced results. Inclusion of objective measures, such as blinded observations of child behaviors related to ADHD-I, could remedy rater or expectancy bias. Third, CLAS and PFT treatment groups were collapsed into a single active treatment group in primary analyses. The groups were collapsed to compare active treatment to treatment as usual; however, this procedure may have inadvertently affected results as the CLAS group received all three treatment components whereas the PFT group only received the parent component. However, in additional analyses in which CLAS and PFT data were contrasted and TAU data were excluded, the significant effect of processing speed on both parent and teacher report of ADHD-I symptoms remained. Finally, regarding processing speed, we examined only visual information processing and did not have a measure of auditory information processing. Although children with ADHD-I have shown particular vulnerability in visual information processing and not auditory information processing (Weiler et al., 2002), providing a

measure of both processing capacities could provide better understanding of how processing speed influences treatment.

It is also important to consider that, as a group, the current sample of children with ADHD-I is not exceptionally impaired in processing speed, with group means for PSI in the average range, although there were children in the sample with PSI standard scores as low as 62 (see Table 1). Nonetheless, results of the regression analyses revealed that slower processing speed was associated with less treatment-related change in inattention symptoms. These effects may be even greater in a sample with more significant processing speed impairments. To better understand how low PSI must be to detrimentally influence treatment, future studies may include comparisons between samples grouped by PSI ranges (e.g., below average, average, above average).

Another consideration is whether to include other neuropsychological or intellectual measures as covariates in analyses. It has been argued that IQ should not be included as a covariate in analyses in which the variable of interest is a measure of neuropsychological function, as doing so may be statistical over-control and could yield anomalous findings (Dennis et al., 2009). Specifically, it has been noted that IQ comprises multiple abilities that are correlated with each other and with neuropsychological variables of interest. Additionally, deficits in overall cognitive ability are a feature of ADHD, making it difficult to be covaried (Dennis et al., 2009). Still, to aid in specificity of our findings, we included VCI as a covariate in additional analyses and significant prediction effects of processing speed remained. In even more stringent additional analyses, all WISC-IV indexes aside from PSI (i.e., VCI, PRI, and WMI) were included as covariates and significant prediction effects of processing speed remained.

In conclusion, the present study has provided evidence that children's processing speed is negatively associated with beneficial treatment outcomes in a psychosocial-behavioral intervention. To our knowledge, this is the first study to date to examine treatment-related effects of processing speed in children with ADHD-I. Further investigation into specific ways children's processing speed influences treatment outcomes will extend knowledge from the current study and may help influence the development of strategies clinicians and parents can use to treat children with ADHD-I and lower processing speeds.

Acknowledgments

Funding: This study was funded by the National Institute of Mental Health (MH077671)

References

- American Psychiatric Association. Diagnostic and statistical manual of mental disorders. 5th. Washington, DC: Author; 2013.
- Araujo Jiménez EA, Jané Ballabriga MC, Martin AB, Arrufat FJ, Giacobbo RS. Executive functioning in children and adolescents with symptoms of sluggish cognitive tempo and ADHD. *Journal of Attention Disorders*. 2015; 19:507–514. DOI: 10.1177/1087054713495442 [PubMed: 23887861]
- Arnett AB, Pennington BF, Willcutt EG, DeFries JC, Olson RK. Sex differences in ADHD symptom severity. *Journal of Child Psychology and Psychiatry*. 2015; 56:632–639. DOI: 10.1111/jcpp.12337 [PubMed: 25283790]

- Barkley, RA. Defiant children: A clinician's manual for parent training. New York: Guilford Press; 1987.
- Barkley RA. Behavioral inhibition, sustained attention, and executive functions: Constructing a unifying theory of ADHD. *Psychological Bulletin*. 1997; 121:65–94. DOI: 10.1037/0033-2909.121.1.65 [PubMed: 9000892]
- Barkley RA. Sluggish cognitive tempo (concentration deficit disorder?): Current status, future directions, and a plea to change the name. *Journal of Abnormal Child Psychology*. 2014; 42:117–125. DOI: 10.1007/s10802-013-9824-y [PubMed: 24234590]
- Bauermeister JJ, Barkley RA, Bauermeister JA, Martínez JV, McBurnett K. Validity of the sluggish cognitive tempo, inattention, and hyperactivity symptom dimensions: Neuropsychological and psychosocial correlates. *Journal of Abnormal Child Psychology*. 2012; 40:683–697. DOI: 10.1007/s10802-011-9602-7 [PubMed: 22179974]
- Bidwell LC, Willcutt EG, DeFries JC, Pennington BF. Testing for neuropsychological endophenotypes in siblings discordant for attention-deficit/hyperactivity disorder. *Biological Psychiatry*. 2007; 62:991–998. DOI: 10.1016/j.biopsych.2007.04.003 [PubMed: 17585884]
- Biederman J, Seidman LJ, Petty CR, Fried R, Doyle AE, Cohen DR, Faraone SV. Effects of stimulant medication on neuropsychological functioning in young adults with attention-deficit/hyperactivity disorder. *Journal of Clinical Psychiatry*. 2008; 69:1150–1156. DOI: 10.4088/JCP.v69n0715 [PubMed: 18517288]
- Bink M, van Nieuwenhuizen C, Popma A, Bongers IL, van Boxtel GJM. Neurocognitive effects of neurofeedback in adolescents with ADHD: A randomized controlled trial. *Journal of Clinical Psychiatry*. 2014; 75:535–542. DOI: 10.4088/JCP.13m08590 [PubMed: 24922488]
- Burge WK, Ross LA, Amthor FR, Mitchell WG, Zotov A, Visscher KM. Processing speed training increases the efficiency of attentional resource allocation in young adults. *Frontiers in Human Neuroscience*. 2013; 7:1–7. DOI: 10.3389/fnhum.2013.00684 [PubMed: 23355817]
- Buschkuhl M, Jaeggi SM, Jonides J. Neuronal effects following working memory training. *Developmental Cognitive Neuroscience*. 2012; 2:S167–S179. DOI: 10.1016/j.dcn.2011.10.001 [PubMed: 22682905]
- Cortese S, Ferrin M, Brandeis D, Buitelaar J, Daley D, Dittmann RW, Sonuga-Barke EJS. Cognitive training for attention-deficit/hyperactivity disorder: Meta-analysis of clinical and neuropsychological outcomes from randomized controlled trials. *Journal of the American Academy of Child & Adolescent Psychiatry*. 2015; 54:164–174. DOI: 10.1016/j.jaac.2014.12.010 [PubMed: 25721181]
- Dennis M, Francis DJ, Cirino PT, Schachar R, Barnes MA, Fletcher JM. Why IQ is not a covariate in cognitive studies of neurodevelopmental disorders. *Journal of the International Neuropsychological Society*. 2009; 15:331–343. DOI: 10.1017/S1355617709090481 [PubMed: 19402919]
- Fabiano GA, Pelham WE Jr, Coles EK, Gnagy EM, Chronis-Tuscano A, O'Connor BC. A meta-analysis of behavioral treatments for attention-deficit/hyperactivity disorder. *Clinical Psychology Review*. 2009; 29:129–140. DOI: 10.1016/j.cpr.2008.11.001 [PubMed: 19131150]
- Fabiano GA, Vujnovic RK, Pelham WE, Waschbusch DA, Massetti GM, Pariseau ME, Volker M. Enhancing the effectiveness of special education programming for children with attention deficit hyperactivity disorder using a daily report card. *School Psychology Review*. 2010; 39:219–239. Retrieved from <http://search.proquest.com/docview/754058916?accountid=14496>.
- Finke K, Dodds CM, Bublak P, Regenthal R, Baumann F, Manly T, Müller U. Effects of modafinil and methylphenidate on visual attention capacity: A TVA-based study. *Psychopharmacology*. 2010; 210:317–329. DOI: 10.1007/s00213-010-1823-x [PubMed: 20352415]
- Forehand, R., McMahon, R. *Helping the noncompliant child: A clinician's guide to parent training*. New York: Guilford Press; 1981.
- Gadow, KD., Sprafkin, J. *Child symptom inventories manual*. Stony Brook, NY: Checkmate Plus; 1994.
- Graziano PA, Geffken GR, Lall AS. Heterogeneity in the pharmacological treatment of children with ADHD: Cognitive, behavioral, and social functioning differences. *Journal of Attention Disorders*. 2011; 15:382–391. DOI: 10.1177/1087054710367772 [PubMed: 20495162]

- Hellwig-Brida S, Daseking M, Petermann F, Goldbeck L. Intelligenz- und aufmerksamkeitsleistungen von jungen mit ADHS [Components of intelligence and attention in boys with ADHD]. *Zeitschrift Für Psychiatrie, Psychologie Und Psychotherapie*. 2010; 58:299–308. DOI: 10.1024/1661-4747/a000040
- Hunt MG, Bienstock SW, Qiang JK. Effects of diurnal variation on the Test of Variables of Attention performance in young adults with attention-deficit/hyperactivity disorder. *Psychological Assessment*. 2012; 24:166–172. DOI: 10.1037/a0025233 [PubMed: 21910547]
- Jak AJ, Seelye AM, Jurick SM. Crosswords to computers: A critical review of popular approaches to cognitive enhancement. *Neuropsychology Review*. 2013; 23:13–26. DOI: 10.1007/s11065-013-9226-5 [PubMed: 23423553]
- Kaufman J, Birmaher B, Brent D, Rao U. Schedule for Affective Disorders and Schizophrenia for School-Age Children-Present and Lifetime Version (K-SADS-PL): Initial reliability and validity data. *Journal of the American Academy of Child & Adolescent Psychiatry*. 1997; 36:980–988. DOI: 10.1097/00004583-199707000-00021 [PubMed: 9204677]
- Konrad K, Eickhoff SB. Is the ADHD brain wired differently? A review on structural and functional connectivity in attention deficit hyperactivity disorder. *Human Brain Mapping*. 2010; 31:904–916. DOI: 10.1002/hbm.21058 [PubMed: 20496381]
- Lajoie G, Anderson V, Anderson P, Tucker AR, Robertson IH, Manly T. Effects of methylphenidate on attention skills in children with attention deficit/hyperactivity disorder. *Brain Impairment*. 2005; 6:21–32. DOI: 10.1375/brim.6.1.21.65479
- Lee S, Burns GL, Snell J, McBurnett K. Validity of the sluggish cognitive tempo symptom dimension in children: Sluggish cognitive tempo and ADHD-inattention as distinct symptom dimensions. *Journal of Abnormal Child Psychology*. 2014; 42:7–19. DOI: 10.1007/s10802-013-9714-3 [PubMed: 23325455]
- Lei D, Ma J, Du X, Shen G, Jin X, Gong Q. Microstructural abnormalities in the combined and inattentive subtypes of attention deficit hyperactivity disorder: A diffusion tensor imaging study. *Scientific Reports*. 2014; 4:1–7. DOI: 10.1038/srep06875
- Mackey AP, Hill SS, Stone SI, Bunge SA. Differential effects of reasoning and speed training in children. *Developmental Science*. 2011; 14:582–590. DOI: 10.1111/j.1467-7687.2010.01005.x [PubMed: 21477196]
- Martinussen R, Tannock R. Working memory impairments in children with attention- deficit hyperactivity disorder with and without comorbid language learning disorders. *Journal of Clinical and Experimental Neuropsychology*. 2006; 28:1073–1094. DOI: 10.1080/13803390500205700 [PubMed: 16840237]
- Mayes SD, Calhoun SL, Chase GA, Mink DM, Stagg RE. ADHD subtypes and co-occurring anxiety, depression, and oppositional-defiant disorder: Differences in Gordon Diagnostic System and Wechsler working memory and processing speed index scores. *Journal of Attention Disorders*. 2009; 12:540–550. DOI: 10.1177/1087054708320402 [PubMed: 18664713]
- McBurnett K, Pfiffner LJ, Frick PJ. Symptom properties as a function of ADHD type: An argument for continued study of sluggish cognitive tempo. *Journal of Abnormal Child Psychology*. 2001; 29:207–213. DOI: 10.1023/A:1010377530749 [PubMed: 11411783]
- Nielsen NP, Wiig EH. AQT cognitive speed and processing efficiency differentiate adults with and without ADHD: A preliminary study. *International Journal of Psychiatry in Clinical Practice*. 2011; 15:219–227. DOI: 10.3109/13651501.2011.582538 [PubMed: 22121933]
- Nigg JT, Stavro G, Ettenhofer M, Hambrick DZ, Miller T, Henderson JM. Executive functions and ADHD in adults: Evidence for selective effects on ADHD symptom domains. *Journal of Abnormal Psychology*. 2005; 114:706–717. DOI: 10.1037/0021-843X.114.3.706 [PubMed: 16351391]
- Pelham WE Jr, Fabiano GA. Evidence-based psychosocial treatments for attention-deficit/hyperactivity disorder. *Journal of Clinical Child and Adolescent Psychology*. 2008; 37:184–214. DOI: 10.1080/15374410701818681 [PubMed: 18444058]
- Pfiffner, LJ. All about ADHD: The complete practical guide for classroom teachers. 2nd. New York: Scholastic; 2011.

- Pfiffner, L.J., Barkley, R.A., DuPaul, G. Treatment of ADHD in school settings. In: Barkley, R.A., editor. Attention deficit hyperactivity disorder: A handbook for diagnosis and treatment. 3rd. New York: Guilford Press; 2006. p. 547-589.
- Pfiffner L.J., Hinshaw SP, Owens EB, Zalecki C, Kaiser N, Villodas M, McBurnett K. A two-site randomized clinical trial of integrated psychosocial treatment for ADHD-inattentive type. *Journal of Consulting and Clinical Psychology*. 2014; 82:1115–1127. DOI: 10.1037/a0036887 [PubMed: 24865871]
- Pfiffner L.J., McBurnett K. Social skills training with parent generalization: Treatment effects for children with attention deficit disorder. *Journal of Consulting and Clinical Psychology*. 1997; 65:749–757. DOI: 10.1037/0022-006X.65.5.749 [PubMed: 9337494]
- Rossi ASU, de Moura LM, de Mello CB, de Souza AAL, Muszkat M, Bueno OFA. Attentional profiles and white matter correlates in attention-deficit/hyperactivity disorder predominantly inattentive type. *Frontiers in Psychiatry*. 2015; 6:1–10. DOI: 10.3389/fpsyt.2015.00122 [PubMed: 25653621]
- Sonuga-Barke E, Bitsakou P, Thompson M. Beyond the dual pathway model: Evidence for the dissociation of timing, inhibitory, and delay-related impairments in attention-deficit/hyperactivity disorder. *Journal of the American Academy of Child & Adolescent Psychiatry*. 2010; 49:345–355. DOI: 10.1097/00004583-201004000-00009 [PubMed: 20410727]
- Stevens MC, Gaynor A, Bessette KL, Pearlson GD. A preliminary study of the effects of working memory training on brain function. *Brain Imaging and Behavior*. 2016; 10:387–407. DOI: 10.1007/s11682-015-9416-2 [PubMed: 26138580]
- Takeuchi H, Kawashima R. Effects of processing speed training on cognitive functions and neural systems. *Reviews in the Neurosciences*. 2012; 23:289–301. DOI: 10.1515/revneuro-2012-0035 [PubMed: 22752786]
- Takeuchi H, Taki Y, Kawashima R. Effects of working memory training on cognitive functions and neural systems. *Reviews in the Neurosciences*. 2010; 21:427–449. DOI: 10.1515/REVNEURO.2010.21.6.427 [PubMed: 21438192]
- Thaler NS, Bello DT, Etcoff LM. WISC-IV profiles are associated with differences in symptomatology and outcome in children with ADHD. *Journal of Attention Disorders*. 2013; 17:291–301. DOI: 10.1177/1087054711428806 [PubMed: 22286109]
- Todd RD, Rasmussen ER, Wood C, Levy F, Hay DA. Should sluggish cognitive tempo symptoms be included in the diagnosis of attention-deficit/hyperactivity disorder? *Journal of the American Academy of Child & Adolescent Psychiatry*. 2004; 43:588–597. DOI: 10.1097/00004583-200405000-00012 [PubMed: 15100565]
- van Ewijk H, Heslenfeld DJ, Zwiers MP, Buitelaar JK, Oosterlaan J. Diffusion tensor imaging in attention deficit/hyperactivity disorder: A systematic review and meta-analysis. *Neuroscience and Biobehavioral Reviews*. 2012; 36:1093–1106. DOI: 10.1016/j.neubiorev.2012.01.003 [PubMed: 22305957]
- Waldman ID. Statistical approaches to complex phenotypes: Evaluating neuropsychological endophenotypes for attention-deficit/hyperactivity disorder. *Biological Psychiatry*. 2005; 57:1347–1356. DOI: 10.1016/j.biopsych.2005.03.002 [PubMed: 15950007]
- Wechsler, D. Wechsler Intelligence Scale for Children. Fourth. San Antonio, TX: Psychological Corporation; 2003a.
- Wechsler, D. WISC-IV technical and interpretive manual. San Antonio, TX: Psychological Corporation; 2003b.
- Weiler MD, Bernstein JH, Bellinger D, Waber DP. Information processing deficits in children with attention-deficit/hyperactivity disorder, inattentive type, and children with reading disability. *Journal of Learning Disabilities*. 2002; 35:448–461. DOI: 10.1177/00222194020350050501 [PubMed: 15490541]
- Weiler MD, Bernstein JH, Bellinger DC, Waber DP. Processing speed in children with attention deficit/hyperactivity disorder, inattentive type. *Child Neuropsychology*. 2000; 6:218–234. DOI: 10.1076/chin.6.3.218.3156 [PubMed: 11402399]

- Wells, KC., Abikoff, H., Abramowitz, A., Courtney, M., Cousins, L., Del Carmen, R., Pfiffner, L. Parent training for attention deficit hyperactivity disorder: MTA study manual. Duke University Medical Center; Durham, NC: 1996.
- Willcutt EG. The prevalence of DSM-IV attention-deficit/hyperactivity disorder: A meta-analytic review. *Neurotherapeutics*. 2012; 9:490–499. DOI: 10.1007/s13311-012-0135-8 [PubMed: 22976615]
- Willcutt EG, Chhabildas N, Kinnear M, DeFries JC, Olson RK, Leopold DR, Pennington BF. The internal and external validity of sluggish cognitive tempo and its relation with DSM–IV ADHD. *Journal of Abnormal Child Psychology*. 2014; 42:21–35. DOI: 10.1007/s10802-013-9800-6 [PubMed: 24122408]

Author Manuscript

Author Manuscript

Author Manuscript

Author Manuscript

Table 1

Child Characteristics by Treatment Assignment

Measure	Sample range (n = 199)	CLAS (n = 74)		PFT (n = 74)		CLAS-PFT Comparison		AT (n = 148)		TAU (n = 51)		AT-TAU Comparison	
		M	or %	SD	M	or %	SD	M	or %	SD	M	or %	p
Age	7–11	8.78		1.15	8.69		1.18	8.74		1.16	8.37		.681
Gender (% male)		51.4%			64.9%			58.1%			58.8%		.929 ^a
CSI ADHD-I													
Parent (Pre)	1.11–3.00	1.89		0.47	2.09		0.50	1.99		0.49	2.06		.108
Teacher (Pre)	.78–3.00	2.04		0.53	1.95		0.55	1.99		0.54	2.03		.820
Parent (Post)	.44–2.89	1.27		0.40	1.46		0.52	1.37		0.47	1.68		.086
Teacher (Post)	.22–3.00	1.28		0.64	1.53		0.65	1.41		0.66	1.74		.643
FSIQ (Pre)	80–135	103.64		11.04	102.67		11.32	103.16		11.15	105.47		.543
PSI (Pre)	62–128	93.75		12.52	92.44		13.1	93.10		12.79	96.61		.220
WMI (Pre)	62–135	97.44		12.28	97.59		10.53	97.51		11.4	100.31		.258
K-SADS ODD		6.76%			6.76%			6.76%			5.88%		.563 ^a
K-SADS Anx		5.41%			10.96%			8.16%			5.88%		.429 ^a
K-SADS Dep		1.35%			2.7%			2.03%			1.96%		.729 ^a

Note. CLAS = Child Life and Attention Skills treatment; PFT = parent-focused treatment; AT = active treatment (i.e., CLAS and PFT combined); TAU = treatment as usual; Pre = pretreatment scores; Post = posttreatment scores; CSI = Child Symptoms Inventories (Gadow & Sprafkin, 1994); ADHD-I = Attention-Deficit/Hyperactivity Disorder Predominantly Inattentive Type; FSIQ = Full Scale IQ; PSI = Processing Speed Index; WMI = Working Memory Index; K-SADS = Kiddie Schedule for Affective Disorders and Schizophrenia for School-Age Children (Kaufman, Birmaher, Brent, & Rao, 1997); ODD = oppositional defiant disorder; Anx = anxiety disorder; Dep = depressive disorder

^aSignificance value for Pearson Chi-Square test

Table 2

Predictive Effects of PSI and WMI in Active Treatment versus Treatment as Usual

		Parent Report of CSI					Teacher Report of CSI				
		β	ΔF	df	p	ΔR^2	β	ΔF	df	p	ΔR^2
Step 1	Group	.241	28.280	190	.000	.229	.202	31.507	190	<.001	.249
	CSI ADHD-I (Pre)	.401				.452					
Step 2	PSI	-.132	4.260	189	.040	.017	-.295	23.227	189	<.001	.082
Step 1	Group	.241	28.280	190	<.001	.229	.202	31.507	190	<.001	.249
	CSI ADHD-I (Pre)	.401				.452					
Step 2	WMI	.058	0.828	189	.364	.003	.013	0.039	189	.843	.000

Note. CSI = Child Symptom Inventory; Pre = pretreatment scores; PSI = Processing Speed Index, WMI = Working Memory Index

Table 3
 Predictive Effects of PSI and WMI in Multimodal treatment (CLAS) versus Parent-Focused Treatment (PFT)

		Parent Report of CSI					Teacher Report of CSI				
		β	ΔF	df	p	ΔR^2	β	ΔF	df	p	ΔR^2
Step 1	Group	.139	15.377	143	<.001	.177	.221	22.605	141	<.001	.243
	CSI ADHD-I (Pre)	.371				.456					
Step 2	PSI	-.173	5.342	142	.022	.030	-.247	11.675	140	.001	.058
Step 1	Group	.139	15.377	143	<.001	.177	.221	22.605	141	<.001	.243
	CSI ADHD-I (Pre)	.371				.456					
Step 2	WMI	.058	0.575	142	.449	.003	-.034	0.213	140	.645	.001

Note. CSI = Child Symptom Inventory; Pre = pretreatment scores; PSI = Processing Speed Index, WMI = Working Memory Index